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3cos ‘130)2 = cos 87°cosec h3°
( sin47° tan 5°tan 25° tan 45° (an 65° tan 85°

86. Ifsec 24 = cosec(A =42°) where 24 is an acute angle, find the value of A

T 87, Ifsin(A-B) =0,cos(A+B) = 0, 0°< 4 4 p < 90°, find Aand B.
38. If tan(A+ B) =+/3 and tan (4 —B) =0, 0°0< A+ B < 90° find sin(A + B) and cos(4 - B).
39. Simplify: (14 tan® 0)(1 ~sin 0)(1 + sin g). |
40. Ifsin 0+ cos 0 =+/3, then prove that tan g +cot 0 =1 |

41. Given that a +f = 90° show that \/cos ¢ cosecf} —cos asinf =sina.
j | asinO—beos 0 42 —p*

|

'

:

: a
! 42, Iftan6=—, provethat —— " " _ <
R asm9+bcosﬂ a? +b?

tan0—cot @
2tan 0

1-tan® @

, find the value of

B

] 43. Ifsec0=

I

0 44. If0 =30° verify that tan® 0 =
|
|
|

45. If 0 = 30°, verify that cos? B—I__tin_e
1+ tan® 0

46. If A=30°and B = 60°, verify that cos (4 + B) = cos Acos B —sin Asin B.
. 47. If A=30"and B = 60°, verify that sin(4 + B) = sin Acos B + cos Asin B.

[ [4 A g
| { : 48. IFCO[ 9 = 1—‘)’ then eva]uate (2 + 2s‘ln e)(l — S 9) 5
| 8 (1+cos 6)(2 - 2cos 0)
49, Ifsec 8=x+1, prove thatsethanﬂ:onr%. e q
x i

50. If /3 tan 6 = 3sin, find the value ofsin 0 —cos2 0,
25in0 —3cos O

51. Ifcosec ® =E, find the value of :
12 4s5in0—9cos 0

2
52. Ifsmﬁ-z—b— find 1+ tanBOcos 6.
a® +b?

53. Ifcos 0 +sin® =+/2cos 0, prove that cos 6 —sin 0 = /2sin 6.
Find the value of x : (54-55)
54. +/3sinx =cosx
55. tanx =sin45°cos 45°+sin 30° .
Prove the following trigonometric identities: (56-63)
; 56. sin® 0+ cos 0+ 3sin® Ocos® 0 =1
‘ 57. tan® + tan(90°-0) =sec Osec (90°-0)
58. tan* 0+ tan® 0=sec? 0 —sec? 0

tan A + cot4 =1+ tan A +cot 4
l-cotA 1-tanAd

60. (1+cot A -cosecA)(l + tan A +sec 4) =2
% a6 ,

89.
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" 88. (sec A-cosec A)(1+tand +cot A) = tanASec‘jJ; :

sin@- 200 _ng
2cos* 0—cos 0

Long Answer Questions Yodted
64. Ifasin0+cos 0 =¢ then prove (hat acos 0= bsin @ = Jm_

63.
(4 marks)

65. Given thatsin0+ 2cos 0 =1 then prove that 2sin0 —cos 0 = 9,
: 1
66. 1f1+sin® 0 = 3sinOcos , then prove that tan =1 or 3

1’___,| 1 sinf

67. Ifsec 0+ tan0 = p, show that flz B

68. 1facos 0+ bsin® =m and asin0 —bcos 0 =n, prove that a* + b2 =m? +n°.

Prove that the following identities (69-80) )

69. ,/scc'“' 0+ cosec 20 = tan 0 +cot 0

70. sin A(l + tan A) + cos A(1 + cot A) = sec A +cosecd

08 . _:' A+
71. (_(r_tﬂi_l = cosecAd +cot A
cos A+sinAd-1
tan®
PO S 1 + sec Ocosec 0
l-cot® 1-tan®
tan0+sec -1  1+sin0

tan0—sec 0 +1 cos 0

72,

73,

sec0  cosecO
cosec 20 sec®® ‘

74. (1+cot 0+ tan 0)(sin @ —cos 0) =

s sind+cosA sind-cosAd _ 2 o L O
" sind—cosA sinA+cosA sin® A —cos2A  92in®A-1
i |

76. (sin0 —sec 0)* +(cos 0 —cosech)® = (1-sec Bcosecd)? I8

7. l1+cos®—sin” 0 oD

sin 6(1 + cos 0)
cosec A cosec A ¢
78. + = 9sec> A
cosec A-1 cosecA+1
1 | .
79. + = 2cosec Acot A

secA—-1 secA+1

1

80. (cosecO —sin0)(sec 0—cos ) = ————
tan0 +cot 0

81. Ifx =asec 0+ btan0 and y =atan0 + bsec 6, prove th

sec 0 -1 sec 0+1 .
82. + = 20 0
\/sec 0+1 Jsec 0-1 o5 i

84. sin A(l+ tan 0)* +cos A(1 +cot A) = sec A + cos¢
sinf—2sin” 0 :

o
g, tan0 i
2cos” 0—cos 0

85.
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